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Name: __________________________________


1
If [image: image1.png]


, then [image: image2.png]log,x”



 is
	1)
	[image: image3.png]y+2





	2)
	[image: image4.png]2y





	3)
	[image: image5.png]




	4)
	[image: image6.png]






2
If [image: image7.png]loga = x



 and [image: image8.png]logh =y



, then [image: image9.png]loglab®)



 equals
	1)
	[image: image10.png]L)





	2)
	[image: image11.png]




	3)
	[image: image12.png]X+ 2y





	4)
	[image: image13.png]2x + 2y







3
If  [image: image14.png]loga = x



 and [image: image15.png]logh =y



, then [image: image16.png]log ~fab



 is equivalent to


	1)
	[image: image17.png]x4y





	2)
	[image: image18.png](x+)





	3)
	[image: image19.png]




	4)
	[image: image20.png]






4
If  [image: image21.png]loga = x



 and [image: image22.png]logh =y



, what is [image: image23.png]loga~{®



?
	1)
	[image: image24.png]X+ 2y





	2)
	[image: image25.png]2x + 2y





	3)
	[image: image26.png]x+y





	4)
	[image: image27.png]X+ 2







5
If [image: image28.png]logx=a



, [image: image29.png]logy =4



, and [image: image30.png]logz=c¢



, then [image: image31.png]


 is equivalent to
	1)
	[image: image32.png]V2a+b+oe





	2)
	[image: image33.png]




	3)
	[image: image34.png]v

+h-te





	4)
	[image: image35.png]






6
If  [image: image36.png]logi=a



 and [image: image37.png]log5=2~4



, then [image: image38.png]log45



 is equal to
	1)
	[image: image39.png]




	2)
	[image: image40.png]2a+ b





	3)
	[image: image41.png]2ab





	4)
	[image: image42.png]a2h







7
If [image: image43.png]log5=a



, then [image: image44.png]log 250



 can be expressed as
	1)
	[image: image45.png]50a





	2)
	[image: image46.png]2a+ 1





	3)
	[image: image47.png]10+ 2a





	4)
	[image: image48.png]25a







8
If [image: image49.png]log2=a



 and [image: image50.png]logi=4



, the expression [image: image51.png]og

70



 is equivalent to
	1)
	[image: image52.png]2h—a+1





	2)
	[image: image53.png]2h—a-1





	3)
	[image: image54.png]b a4 10





	4)
	[image: image55.png]2
a+1







9
If [image: image56.png]loga

2



 and [image: image57.png]logh

3



, what is the numerical value of [image: image58.png]


?
	1)
	8

	2)
	[image: image59.png]




	3)
	25

	4)
	[image: image60.png]-25







10
Given:  [image: image61.png]log,2




 and [image: image62.png]log,3





Express in terms of x and y:  [image: image63.png]log, 18

9
ogs 15





11
Given:  [image: image64.png]log7=1x



 and [image: image65.png]log3i=y




Express in terms of x and y:  [image: image66.png]




12
Given:  [image: image67.png]log2=1x



 and [image: image68.png]log3i=y




Express in terms of x and y:  [image: image69.png]




13
Given:  [image: image70.png]log,3




 and [image: image71.png]log,5





Express in terms of p and q:  [image: image72.png]




14
Given:  [image: image73.png]log2=xand logi=y




Express in terms of x and y:  [image: image74.png]3
log 12





15
Given:  [image: image75.png]log2=a



 and [image: image76.png]



Express in terms of a and b:  [image: image77.png]




16
Given:  [image: image78.png]log2=1x



 and [image: image79.png]



Express in terms of x and y:  [image: image80.png]




17
Given:  [image: image81.png]log,2 = 0.6931



 and [image: image82.png]log,3 = 1.0986





Find [image: image83.png]log, ~/12





18
Given:  [image: image84.png]


 and [image: image85.png]



Find:  [image: image86.png]pe}
o



 and [image: image87.png]log, ~45





19
Given:  [image: image88.png]log, =075



 and [image: image89.png]log,5'=025






Find:  [image: image90.png]log, R25



 and [image: image91.png]&
o2 7






1
ANS:
2
REF:
089620siii

2
ANS:
3
[image: image92.png]loga +logh® = loga + 2logh = x+ 2y




REF:
081618a2

3
ANS:
2
REF:
069026siii

4
ANS:
4
[image: image93.png]1
lnga@:lnga+lngb§:lnga+%lngb*x+%




REF:
060510b

5
ANS:
4
[image: image94.png]1ng%:1ngx‘ +logy-logz? Zlngx+lngy*%lngz:2a+b*lz





REF:
010409b

6
ANS:
2
REF:
088419siii

7
ANS:
2
[image: image95.png]og(5* *10) =log 5* +log 10

log5+log10=2a +1




REF:
080110b

8
ANS:
2
[image: image96.png]log9-log20
1og3? - log(10-2)
2log3 - (log 10+ log 2)
2-(1+a)
b-a-





REF:
011326a2

9
ANS:
2
[image: image97.png]L
loga?-log# = %lnga ~3logh= IE(Z) —3(3)=-8





REF:
060316b

10
ANS:

[image: image98.png]X+ 2y



, [image: image99.png]2y — 4x




REF:
010439siii

11
ANS:

[image: image100.png]Lo-n



, [image: image101.png]X+ 2y




REF:
019637siii

12
ANS:

[image: image102.png]7

=3

(x +)




REF:
069640siii

13
ANS:

[image: image103.png]v —g



, [image: image104.png]oo




REF:
069838siii

14
ANS:

[image: image105.png]X=Y, 2x+y




REF:
010041siii

15
ANS:

[image: image106.png]b=




REF:
060140siii

16
ANS:

[image: image107.png]Le-y)



, [image: image108.png]2x+y




REF:
060339siii

17
ANS:

1.2424
REF:
089342siii

18
ANS:

1.47, 2.745
REF:
069441siii

19
ANS:

1.75, [image: image109.png]-0.75




REF:
019840siii

